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1. RTOUDEIN6 DIEMUMATVBICOWTROMIZEAL L. (SH36™, AR5, B2y, CH#34)

(1)  FmEkEzkD k. (2)  HEEkD L.

2. OA=0B=0C=0D=6, AB=BC=CD=DA=4DIEMATO - ABCD IZ2WTXRDMIZEZ k.
(S#A8F, A1 10F, Bf253 208, C#% 347308 )
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© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

3. ATOUDEINSDIENUATWIZOWTROMIZEZX. (SH36F, Afs5, B2, C#H%3%)

(1) FEEZRD L. (2) R ERD k.

4. OA=0B=0C=0D=7 AB=BC=CD=DA =4 OIFMATV O — ABCD IZOWVTRXDIMIZEZ k.
(S48, A1 10%, B2 208, CH# 35308 )

(1) FmiEzkD L. (2) EEERD k.
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1. RTOUDEIN6 DIEMUMATVBICOWTROMIZEAL L. (SH36™, AR5, B2y, CH#34)
(1)  EmiEzRkD X. (2) fkEERkD X

* IEMf g
- EEDIEAERT, AE S TERLZFI=ZARTHSNAM

(1) * ESAHOERE (—2 ) %f
1IEA# ABCD + IFE=f OAB x 4
:62+§x62x4:36+36\/§

(2) TEHM O 25 KM ABCD ICHEfMREZ TAL, 2ZOR%EHET 3.
* EAFORAR(CFHOER) XD, BD =62
XoT, BH=6V2+2=3V2
* ZFEADEE LY OH=+/AB’> - BH®
=1/62 — (3v2)2 = V18 = 3v2

* TVEDEKIER = EERE x &S X

62x3ﬂx%:36\/§

1
3

2. OA=0B=0C=0D=6, AB=BC=CD=DA=4DIEMATO - ABCD IV TXDOMIZEZ k.
(S48, A1 108, B2 208, CH#H 35308 )

(1) FmEZzRKD L. (2) xR D L.
(1) > ZHEIL=AROEE
TESUZMH OAB IR LT, O & AB O M &S
* =FADER LD

OM = vVOAZ — AM? = /62 — 22 =42

15 ABCD + S50 =1 OAB x 4

:42+%x4:16+32\/§
(2) TER O »SJEH ABCD ICHEMREZ TAL, ZOREZH LT 5.
* EARORAR(—FHOEMH) kb, BD =42
XoT, BH=4V2+2=2V2
* =FEHDEE LY OH=+AB? - BH?
=4/62 — (2v/2)2 = V28 = 2/7

* TVEDGHE — EEE x B x é
42 x 2\/7 x % = 32?:/7
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3. ATOUDEINRDIEMEMATWICOVTROMIZEZ K. (SH36F, AW, B2, C#35)

(1) FEEZRD L. (2) R ERD k.

(1) * ESAHOESE (—2 ) %ﬁ
£/ ABCD + [E=f# OAB x 4
:82+%><82><4:64+64\/§

(2) TEHS O 25 KH ABCD ICHEMREEZ TAL, ZOREHET 3.
* EAFORAR(ZFHOER) X b, BD =82
XoT, BH=8V2+2=4V2
* ZEHOEE LY  OH=+/AB? - BH?
= /8- (V2P = VB2 =42

* TVEDEKE = EEE x & X

1
3

82 x 4v/2 x L+ = 256v/2
3 3

4. OA=0B=0C=0D=7, AB=BC=CD=DA =4 OIFMAHTV O —ABCD IZOWTRDIIZEZ k.
(SHA8FS, A1 10%, B 25208, C# 3530 )

(1)  FmEkEzkD k. (2) xRk k.
(1) * ZFHEI=AFOHEE
TERNZAT OABICR LT, O £ AB O M 25
* ZFEADER L b
OM = VOAZ — AM? = /72 =22 =35
IEATE ABCD + 530 =T OAB x 4
:4Q+#x4=16+24\/3

(2) TEHM O 25 JKH ABCD ICHEMREEZ TAL, ZOREH ET 3.
* EAFORER(—FHOEH) X b, BD =42
XoT, BH=4V2+2=22
* ZEHOEE LY  OH=+/AB? - BH?
=/ = (2V2)2=V4 = V4l

* TWMEDERE — EEE x B x %

42 5 AT x L = 16v4l
3 3
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